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5.

10.

11.

12,

Each question is followed by 4 answer choices. Of these, you have to select one correct answer and
mark it on the Answer Sheet by darkening the appropriate circle for the question. If more than one
circle is darkened, the answer will not be valued at all. Use Blue or Black Ball point pen to make
heavy black marks to fill the circle completely. Make no other stray marks. Use of whitener is
prohibited. If used, it will lead to invalidation.

D8 DEL TOMD DETERIE0e BSREDD. @S HOODHID BaTen IFOER DIPER DBS0SD DD
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e.g.: Ifthe answer for Question No. 1 is Answer choice (2), it should be marked as follows :
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For each wrong answer 1/3™ of the marks prescribed for the question would be reduced.
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Use Blue or Black Ball Point Pen only, failing which your Answer Sheet will be invalidated. Gel
pens/pencils are not allowed. It is not required to darken the second copy separately.
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Please get the signature of the Invigilator affixed in the space provided in the Answer Sheet. An
Answer Sheet without the signature of the Invigilator is liable for invalidation.
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13.

14.

15.

16.

Programming Calculators, Mathematical/Log Tables, Mobile Phones, Blue Tooth instruments or any
other Electronic Devices will not be allowed into the Examination Hall.
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Candidates should stay in the Examination Hall till expiry of Full Time i.e. 2% Hours. No candidate

shall be allowed to leave the Hall in the middle of the examination under any circumstances.
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If any candidate attempts to use any means to cheat/copy etc., he/she is liable for prosecution and
debarment.
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Rough work may be done on the last page of the Question Booklet only. It should not be done
anywhere else.
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Section -1

Which of the following is the Arabic word

which refers to “Monsoon” ?

(1) Mausim
(2) Mausam
(3) Moncao

(4) Mosama

Which is the largest inland salt water lake in

India ?

(1) Pangong Tso Lake
(2) Sambhar Lake

(3)  Chilika Lake

(4) Bhimtal Lake

Ravines are mostly found in India in the
(1)  Periphery of Gangetic plains

(2) Narmada Valley

(3)  Periphery of Thar desert

(4) Shivaliks

“Break” monsoon period occurs when

(1) Monsoon winds are interrupted by hot
winds from desert

(2) High pressure regions develop in the
Pacific Ocean

(83) Monsoon trough shifts closer to the
foothills of the Himalayas

(4) Ocean temperature rises higher

(4)
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5.

The “Polluter Pays” principle seeks to
(1) Award imprisonment to the polluter
(2)  Collect pollution tax from all industries

(3) Create a compensation fund by the

Government as it is the biggest polluter

(4) Recover financial cost of preventing or
remedying environmental damage from

the polluter

What does 21 represent in Agenda 21 ?

(1) 21 countries

(2) 21 points of sustainable development
(3) 21° Century

(4) Sustainable development in 21 areas

Who stated the following words, “Earth
provides enough to satisfy every man’s need

but not every man’s greed” ?
(1) Leo Tolstoy

(2) Mahatma Gandhi

(3) Gautama Buddha

(4) Wendell Berry

Who organized the World Environment
Conference at New Delhi in March, 2017 ?

(1) National Green Tribunal
(2)  Ministry of Environment and Forests
(3) Down to Earth

(4) Centre for Science and Environment

(5)
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9.

10.

11.

12,

Where is CII - Sohrabji

Business Centre located ?

Godrej Green

(1) Mumbai
(2) Delhi
(3) Hyderabad

(4) Navi Mumbai

Which of the following is a key indicator in

measurement of organic pollution in

rivers/lakes ?

(1) Venus Necklace
(2) Biochemical Oxygen Demand (BOD)
(3) Total Dissolved Solids

4) pH

The step wells which collect the subterranean
seepage of an upstream reservoir or lake in

Jodhpur region are called
(1) Talabs

(2) Bandhis

(3) Baolis

(4) Jhalaras

The Sendai framework for disaster reduction

would be operational till

(1) 2025
(2) 2030
(3) 2040
(4) 2050

(6)

10.

11.

12,
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13. What is the current approach of UN
framework in post-disaster recovery and

14.

15.

16.

reconstruction ?

(1) Minimal Restoration
(2)  Restore the Original
(3) Build Back Better

(4) Varies from time to time

Which of the following is not a vulnerability

factor for occurrence of a disaster ?
(1) Poverty

(2) Population expansion

(3)  Location

(4) Religion

The statement “There is no such thing as

natural disaster, only natural hazards,” is
(1) True
(2) False

(3) May be true or false
(4)  Absurd

Which of the following could be a trigger for

natural disasters ?

(1) War

(2)  Environmental Degradation
(83) Technological accident

(4)  All the given answers are correct

(7)

13.

14.

15.

16.
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17.

18.

19.

20.

Which of the following activities would be
present during the disaster and post-disaster
period ?

(1) Prevention
(2) Mitigation
(3) Relief

(4) Response

Which
vulnerable earthquake risk zone (Zone-V) ?

of the following is in the most

(1)  Shillong
(2) Delhi
(3) Mumbai

(4) Chennai

According to World Bank,
Power Parity terms, what is the position of

in Purchasing

India amongst economies ?

(1) Second
(2) Fifth
(3)  Fourth
(4)  Third

Universal Health Coverage (UHC) for all in

the country was one of the main aims of
(1) 11" Five Year Plan
(2) 10 Five Year Plan
3) 12'" Five Year Plan

4) 9th Five Year Plan

(8)

17.

18.

19.

20.
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21.

22.

23.

24.

What is ‘Green Banking’ ?

(1) Banking  with consideration of

environmental factors both in internal

processes as well as products and
services
(2) Agricultural and forestry related

banking
(3) Paperless banking

(4) Expansion of forest bank reserves in the
country

Which Five Year Plan mentioned the
strategy of shifting of surplus labour from
“agriculture” to “non-agriculture” through skill
development ?

(1) Eleventh Five Year Plan
(2) Twelfth Five Year Plan
(3) Ninth Five Year Plan
(4) Tenth Five Year Plan

As per the provisional estimates of Annual
National Income for 2016 — 17 published by
CSO, the increase in GDP at current prices is

1 71%
(2) 9%
3 11%
4) 12:3%

As per the third advance estimates of
Department of Agriculture and Cooperation,
the total food grain production in the country
during 2016 — 17 is approximately about

(1) 275 million tons
(2) 273 million tons
(3) 271 million tons
(4) 270 million tons

(9)

21.

22,

23.

24.
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25. On which of the following products was the |95
proposed GST rate recently reduced from 28%
to 0% ?
(1) Salt
(2) Notebooks
(3) Human hair (dressed)
(4) TV Set top box
26.
26. The three colours of the Indian National Flag
signify
(1) Saffron — renunciation/courage;
White — peace/truth;
Green — relation to soil/fertility
(2)  Saffron — renunciation/courage;
White — peace/unity;
Green — pleasantness/fraternity
(3) Saffron — sacrifice;
White — peace;
Green — eternity
(4) Saffron — tradition;
White — timelessness;
Green — modernism
27. Which of the following articles of the 27.

Constitution deals with the re-election of the
President ?

(1) Article 54
(2) Article 55
(3) Article 56

(4) Article 57

QBB D JWDR DIJOD S Do
DAY 28% K0& 0% S BHow@dd ?
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(3) 2005 2t (GNE)

@) B D erEy
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(3) e9HEGEad 56

(4) e@B8Ce00 57
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28.

29.

30.

Which of the following articles of the

Constitution confers advisory jurisdiction to

the Supreme Court of India ?
(1) Article 131
(2) Article 142
(3) Article 143

(4)  Article 135

The right to life granted by the Constitution

does not include

(1) Right to human dignity

(2) Right to die

(3)  Right to be free from exploitation

(4)  Right to livelihood

In the “first past the post system”, a candidate

is declared to have won the election

(1) If he secures more than 50% of total

votes

(2)  If his party gets largest number of votes

in the country

(3)  If he secures more votes than any other

candidate

(4) If he secures more votes than the sum of

votes of all other candidates

(11)

28.

29.

30.

BN & véoéoeg*’vbé RO 0OSTY
S&BE} ToerforizY) HSGERAL IO ?

(1) e0H8CeadD 131

(2) @BECLdD 142

(3) e9HEGEad 143

(4) e9QEGLID 135
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31.

32.

33.

34.

The President of India has
(1) No discretionary power

(2) Right to be informed of all important
matters and deliberations of the Council
of Ministers

(3) Emergency powers that can be used at
his own discretion

(4) Power to veto Supreme Court decisions

Which is the highest forum of debate in the

country ?

(1) The Parliament

(2) The Supreme Court
(3) Press and Media

(4) Civil Society

In which month was the annual budget for the
year 2014 -15 passed by the
Legislative Assembly of Andhra Pradesh ?

financial

(1)  July, 2014

(2) August, 2014

(3) September, 2014
(4)  October, 2014

What was the fiscal deficit of the State of
Andhra Pradesh for the financial
2014 - 15 as a percentage of GSDP ?

year

(1) 65%
(2) 61%
3 45%

(4) 54%

(12)

31.

32.

33.

34.
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(1) goots

(2) B0 S m5obo§°énn
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(1) &g, 2014
(2)  esrigy, 2014
3) 30?80805, 2014

(4) @gus, 2014

€308 oDSNGAD 2014 - 158 es0g AT €3
S°en, TR e 30D eejbe;?eﬁé does

Fohorr &od ?

1) 65%
(2) 61%
3 45%
4) 54%
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35.

36.

37.

For how many years did Andhra Pradesh
maintain revenue surplus before incurring

huge revenue deficit due to reorganization in
2014 -157?

(1) b5years
(2) 6years
(3) 7years

(4) 8years

Which

Reorganization

of the Andhra Pradesh
Act, 2014 the
territory remaining with the residual State of
Andhra Pradesh ?

section

specifies

(1) Section 3
(2) Section 4
(3) Section 5

(4) Section 6

For a period not exceeding 10 years from the

appointed date

(1) Hyderabad would be the capital of
Andhra Pradesh

(2) Hyderabad will not be exclusive part of

Telangana

(3) Hyderabad will be common territory of
Andhra Pradesh and Telangana

(4) Governor would be common for Andhra

Pradesh and Telangana

(13)

35.

36.

37.

Xg)édsf‘@osdea SD 2014 - 158" 28 T
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38.

39.

40.

41.

Who are the advisors to the Governor of
Andhra Pradesh and Telangana ?

(1) Shri Harpreet Singh and Shri A.P.V.N.
Sarma

(2) Shri A.K. Mohanty and Shri Harpreet
Singh

(3) Shri A.P.V.N. Sarma and
Shri A.K. Mohanty

(4) There are no advisors

Which of the

Reorganization Act,

Andhra Pradesh

2014 mentions about

section

representation of Anglo-Indian Community ?
(1) Section 15
(2) Section 16
(3) Section 17
(4) Section 18

What is the name of the train running on the

world’s longest bullet train line ?
(1) Shangri-la of the World

(2)  Grande Vitesse

(3)  Shinkansen

(4) The Whirlwind

Which State would host the National Games,
2022 ?

(1) Andhra Pradesh
(2) Meghalaya
(3) Maharashtra

(4) Tripura

(14)

38.

39.

40.

41.

@Wogd VAT BN Bworrerw  (196)6
AB0E); VVTFTEEDLD DO ?

(1) 6 206 SO0 B 9.30.D.°.

écﬁé

(2) .5, TN B3N B ERS
oh

3) 3 VDD FC) WO Z ©.L.
DTN

(4)  PDOITPTERLD DG S

o VAT DAC(REE B0, 2014S5°D D
DOBNGHW,  @off ROLADS AT IS
AV 9B BeHB0E ?

(1) :aoesacsm; 15
(2) zbOiS{bcséoo 16
(3) :aoasaama 17
(4)  HODNBH0 18

DDOBIVSE™D 0y TEPD LG Jew
2000 P AED Tew DA I ?

(1) of-or ed ¢ H6S

(2) Oro& Dé?ob

(3)  QOSTAN

4) & DEJo&

2022 2PSH0 SEOLH D g eI
RO ?

(1)  es08 DA%

(2)  DDIPLOD

(3  ofoy

4) 8Y
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42, Which of the following countries did not sign |42,
the “Open Skies” agreement proposed by
India as part of National Civil Aviation Policy,

2016 ?

(1) SriLanka

(2) Spain

(3) Nepal

(4) Jamaica

43.

43. India’s first international stock exchange is

located at

(1) Mumbai

(2) Kolkata

(3) Ahmedabad

(4) Gandhinagar 44.
44, Who got the Sanjay Chopra Award in the

National Bravery Awards for 2016 presented

in January, 2017 ?

(1)  Sumit Mamgain

(2) Tejesweeta Pradhan

(3) Tushar Varma

(4) Praful Sharma

45.

45. Up to how much value of principal of the loan

taken under rural housing scheme for houses
not covered under PMAY (Gramin) would the
Central  Government  provide interest
subsidy ?

(1) < 5,00,000

(2) < 3,00,000

(3) < 2,50,000

(4) ¥ 2,00,000

TR0 DACIIPS  Appeddw, 2016
OSCIW ES PAFGoDD LS QY7
200080, 8o TBS” D BBo VoSBEIW
Lo ?

(1) 3 eos
(2) ?O‘DOJJS
(3) DS
(4)  205°

PSS S° DG WodT A S aébaoé
[~) [A] A

A & &I O ?

(1) SxoLo

(2) Seoszr

(3) @‘@&wwé

4) ™odI6

2017 235085 HEEdHL  BDD, 2016

RoDBNGZD FBAH FERD DOF T,
20205 T YOI 56 Foedd ?
(1) RS A0

(2) éa@?os@ SIS

(3)  BoFd 1B

4) DS 3G,

D Qo D ABrad (TPAVE) Socd
oo, TP EPATYE DESAD  §ods
2060900 ALOETD 208, Jodh 20063 DA
DOL, 2GS HFBED DG VTS VNG
ROA ?

(1) ¥ 5,00,000

(2) ¥ 3,00,000

(3) ¥ 2,50,000

(4) ¥ 2,00,000
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46. The first prize in the Kayakalp Award for |46.
2016 — 17 presented by Ministry of Health and
Family Welfare for maintaining high

standards of hygiene was won by
(1) AFMC, Pune
(2) AIIMS, New Delhi
(3) PGIMER, Chandigarh
(4) NITRD, Delhi
47. How many additional radar stations would be
installed on the Indian coast by Ministry of |47
Defence as part of coastal surveillance project
sanctioned in February, 2017 ?
(1) 18
(2) 28
(3 38
(4) 48
48. What is the position of India in the Global 48
Innovation Index, 2017 ? )
(1) 66
(2) 60
3) 81
(4) 43
49. Which city of Andhra Pradesh figures in the 49.

30 cities recently selected under the SMART

City Programme ?
(1) Amaravathi
(2) Rajahmundry
(3) Nellore

(4) Kurnool

DOBOG S’ €0) & OBTETeD
TNV, By OO LHeoed
R0 oA TP YIPDo BV SPaPESy
3D6F) To0S” 2016 - 17 § 2 33TVH0D
2503 ©DoVod ?

1) DD D D (AFMC), Q3r=e

2 oD J00 I AIMS), § &9

(3) D& DI R 5 (PGIMER), SoitE
4 Do edd (NITRD), &9

Ao (AR FBY S0, OO 2017’
PO O oA TR A

AN WG T [APO ITew
doecddoy o ?

(1 18

(2) 28

3) 38

(4) 48

DD DY Beo e,  2017¢S°  esd

A0 dodd ?
(1) 66
(2) 60
3 81
(4) 43

BEgeiod dTL  DEEHD  §os A
JoNE BRD 30 driTreeS’ €0 AT Ao
S0 DoFBoED) HAEGHD IO ?

(1) e9TDN

(2)  TeRETP0EHaEH
(3) Jeard

4) SorS
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50. Who is the winner of recent Indonesian Open | 50.
Super Series Badminton title in Men’s Singles

category ?
(1) H.S. Prannoy
(2) Kidambi Srikanth
(3) B. Sai Praneeth
(4) Kazumasa Sakai
51. Which country won the Sudirman Cup, 2017 ? 51.
(1) China
(2) Indonesia
(3)  South Korea
(4) Malaysia
52.
52. For which book did Colson Whitehead win the
Pulitzer Prize, 2017 in fiction category ?
(1) The Underground Railroad
(2)  Sweat
(3)  Blood in the Water
(4) The Return
53. If “Where” is to “Meter”, then “When” is to 53.
(1) Time
(2) Hour
(3) Gram
(4) Degree

QRO 2OAD QOEDNODND LDD WrHd
V0D erdyotrd FBS RV DonSy
DS’ D& DS ?

1) D5.99. Hrc®
2) S5od) FsPod
(3) . Jrow RS
(4) TS HDSTOD

2017 ROAGYD 8D O BFo FRVILDY B ?
1 3

2) @o&dAosr

(3) &es §oosr

(4)  Sogaadr

SNDE bvirézg Derridnes’, D DRSS
93N 9035 D5 &, 2017 Q)E)égé
2IETVD ﬁwcﬁogv‘)‘c‘o ?

(1) & e9osbF°0E Je56°6E
(2) bjéf
(B) & o S T

4) o 0&)@

“Where” 08 “Meter” & 0B, “When”

aAJS ?

(1) Time
(2) Hour
(3) Gram

(4)  Degree
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54. Jayant, Madan, Edward and Akram start off |54,
in this order of descending height. Jayant
grows quickly, but is still just beaten by
Akram. Edward is shortest for a time, until
his place is taken by Madan. Edward is
shorter than Jayant. Who is the tallest

amongst all now ?
(1) Akram
(2) Jayant
(3) Madan
(4) Edward
55. Which diagram comes next ? 55.

KRB K !

(D
(2)
3

4)

K 3K K K

Q0BT 20008, ES, JEgd oAk
Vg, BB HAVS D Dol B
QPO G0LT°E. 2OE BB DO
50, 5 B3I oD BT JATPED.
Fodh DAODHED GG WOBOET) BEN D
QBT GTYED T 0B PSS
SOBR DETPNCD. Dcisé, 20300 S
TR QEDYD, WoB0SE IBDH T
ddKD ?

(1)  ego0
(2)  »0Vod
(3) OB
4 dd

800 S20ANES® BSOS HBy ) O ?

KOG K ?

(1)
(2)
(3

(4)

K a5 oK oK
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56. Find the odd one. 56.
(1 0 A
[
O o
(2) A
2 O
3
(3) -
o [
(4) A
. 57.
57. Find out the number to be present at the

58.

question mark.

(1) 46
(2) 64
(3) 56
(4) 38

If WISDOM is AMWHSQ, then MANKIND is
(1) QFSPNSI

(2) RFSPNSI

(3) QEROMRH

(4) PDQNLQG

58.

806 TOS° LONVD A Wotsod ?

O A

1
(D °

(2)

(3) O

4 |O

QT g DG E0C5DVVD
(BotSol ?

7008,0586.)

(1) 46
(2) 64
(3) 56
(4) 38
WISDOM 808 AMWHSQ 2900083,

MANKIND 208008 ?
(1) QFSPNSI

(2) RFSPNSI

(3) QEROMRH

(4) PDQNLQG
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59. Which of the following events had maximum |59.
impact on the freedom movement of India ?
(1)  Visit of Prince of Wales, 1875
(2) Delhi Durbar, 1877
(3)  Allowing Indians to join in ICS, 1861
(4) Bengal Partition, 1905
60. Who assassinated W.C. Rand, the Plague |60.
Commissioner of Pune in 1897 ?
(1) Ganesh Savarkar
(2) Chapekar Brothers
(3) Vasudev Balwant Phadke
(4)  Chiplunkar Brothers
61. Who was the first woman to be elected as|61-
President of the Indian National Congress ?
(1) Annie Besant
(2)  Sarojini Naidu
(3) Bhikaji Cama
(4) Sucheta Kriplani
62.
62. Why is 13th April, 1919 a black day in Indian

History ?
(1) Bhagat Singh was executed

(2) Komagata Maru passenger killings took

place
(3) Jallianwala Bagh Massacre happened

(4) Chauri Chaura incident happened

&S00S’ D DVoVLD PSS 3"5%@5
ROTPVBNP OSIOE PeTdDW I ?
(1) 1875 &° DSy TLATEE DOFRD

(2) 1877 &8 aomy6

(3) 1861 &° grdAoinwLH ICS &S° HDBo

(4) 1905 &° Borres Desead

1897¢5° Qe DA D6 cgreR. ol
Q0 QDD TS| BFE?

(1) 3% 5°é665

2) TFsd SPeden

(3) TRORD LVS D&

@) DEPosd Vestoen

PGS 2PAOL 500D ANGY  Qodrwe
C(EIT LD DO ?

(1) e Botd

2) B2 Trotnd

(3) DB seae

(4) 0Bee &Derd

O S0FS” 13 RS, 1919 JocOLd esgoeh

0B ?

(1) 268 206 D &30 T

2) oty  HrHS'TD  HoiredHod
NJeTv.led)

(3) 2DaDS T A esoTars

?.’J"B"ISS”oCi 20000

4) 36 So° &ohd0 20000
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63.

64.

65.

66.

(21)

For what purpose was “Tilak Swaraj Fund”

announced by Mahatma Gandhi ?

(1

(2)

3

4)

Build a memorial for Bal Gangadhar
Tilak

Aid India’s freedom struggle and

resistance against British rule

Help war widows of Indian soldiers who
died in the First World War

Build
throughout the country

own buildings for Congress

The “Pullari” movement of Palanadu was a

(D

(2)
3

4)

Movement refusing to pay tax on
grazing of cattle in forest lands

Movement refusing to pay tax on cloth

Tribal movement against levy of land
revenue

Movement against abolition of Palegar
system

Which of the following persons was called as
“Frontier Gandhi” ?

o)
(2)
3
(4)

Mir Ahmed Yar Khan
Khan Abdul Gaffar Khan
Khan Abdul Karim Khan
Akbar Khan Bugti

Sweating is an

(D
(2)
(3
4)

Energy neutral process
Exothermic process
Endothermic process

Difficult to state, which type of process it
is

63.

64.

65.

66.

) %aéééang’ , “B0§ DoE Q7 D
20T, o PEB0TEd ?

(1)
(2)

3

4)

&0 (forresd Bes 3%65 QoS
P08 g HITS WFEDHHD
6 200050  OBD o
DOBONTIS

QOGSO Do o:ipgaj.).)eSG BBE30DD
PRSI SIS ST lovbPeby)
Do

sPodR & QBdvoTe DS DT
NIOEN AN

DO QYD ey A ?

(D

(2)
3

4)

808 T0S° DO

2089 Brdnes® DB
DEAD P D) e O
€C350000
O DRV 8ITPEY B EC0KA0
B> IS bée?ééboorv AO2S
%655&1)&).)

FOTY SO CH  HABSLA0T
CNSIEV

“700&3"63.) m™od”

9083 ?

(1)
(2)
3
(4)

D6 0,6 036 8
R 9eS ﬁ&bé LSS
LSS eseéDeS 860 D

e)saé 8° e

fo5déa§.1> DA ?

(1)

(2)

3

(4)

38 B0 v8aL

GHATSS HEAD

& oS piap

dewBod  PIAL DO BOyEEAD
SRR
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67. Which type of chemical process is tarnishing 67
of silver ? )
(1) Neutralization
(2) Cleaning
(3) Oxidation
(4) Corrosion
68. To store potato chips for a longer period, the | 68.
sealed packet of chips is normally filled with
which gas ?
(1) Oxygen
(2) Helium
(3) Nitrogen
(4) Carbon dioxide
69. Which of the following assist the eye lens to 69.
adjust its focus for viewing bodies at different
distances ?
(1)  Pupil
(2) Ciliary muscles
(3) Rods
(4) Cones
. . . . 70.
70. Which of the following materials is normally

used in a breath analyzer test to ascertain

whether a person is drunk or not ?

(1) Potassium dichromate crystals
(2) Potassium permanganate powder
(3) Silica gel

(4) Baking soda

Dodp D DD DD B
1) ?

(1) eééo?gsdeam

(2)  BOZOGIEHD

(3)  es8y80mw

(4)  L0DEGEBD

2)OTT® V0D &533 as;zjas SPOA DD
GoSerS, D &) DDy b°5§¢.§6 9
STPO30D AoDHT°E ?

1) esad
(2) ordado
3) SR

4) & (DO T30

go®d &S°D gL DG drorers €Y
DDV WrETEIS B9 SE T°DD
900TRE IS DO IO ?

(1)  Eo&d ;D
(2) 2Oad Loctoren

(3) T
4) &oew
w8 B OEEL ddowrre T

BNEIIS BD TR I 004
FeORs0T  $0d oS D DTG0
TETED ?

(1) Terhoso 8IS ydseen
(2)  TerDodo DT OIS Té
3) DOs S

4)  Hot> e
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71.

72.

73.

74.

75.

(23)

Which of the following is caused only due to
fungal infection ?

(D
(2)
3
4)

Psoriasis
Eczema
Acne

Ringworm

What is the expected systolic — diastolic blood
pressure in case of normal human beings in
mmHg ?

(D
(2)
3
4)

120 — 80
80 - 120
140 — 80
80 — 140

The easternmost part of India is in

(1)
(2)
(3)
(4)

Mizoram
Arunachal Pradesh
Nagaland

Assam

Out of the following, which region has the
lowest altitude ?

(D
(2)
3
(4)

Rann of Kutch
Sunderbans
Kuttanad
Dhanushkodi

Which of the following is the largest glacier in
India ?

(D
(2)
3
(4)

Gangotri
Milam
Pindari

Siachen

71.

72.

73.

74.

75.

8o oOS° D 0 Edeo Wozreo HOD

QoEH

1) P63
(CIRINI I

(3)  dooBddoew
(4)  Boh H&),

Jordes  APODHOS’ o oS —
TES VAVS” 6F DEIHD  (FECRY
.. VS°) ot €0t WEVBSY ?

(1) 120-80
(2) 80-120
(3) 140-80
(4) 80-140

O BFY BT T ¢ 6d) B?
(1) o&oro

(2) EFIV DA

(3) ~rmrero&

(4) Yo

& 300 THS” D FroBdA WSO DY

&otodd ?

(1) TR e &8
(2) 7030666?)5
3) s>&

(CORAT N

$o0 TAS” S &S wdgod DG PHP

DB A ?
(1) B
(2)  dowrad
(3)  dozrd

4)  20IrPRD
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Section - 11
76. Tally marks determine 76.
(1) Class limit
(2) Class boundary
(3) Class frequency
(4) Class width
717.

71.

78.

79.

The algebraic sum of deviation of a set of n
values about their arithmetic mean is

1) n

2 0

3 1

(4) Doesn’t exist

The statement, “Statistical constants which
enable us to comprehend in a single effort the
significance of the whole,” was given by

(1) Pearson

(2) Fisher

(3) Galton

(4) Bowley

Consider the following statements and find
out which of them are correct.

L Arithmetic mean cannot be calculated if

the extreme class is open.

II. Mean deviation about mean is always
less than standard deviation.

III. Quartiles are not suitable for further
algebraic treatment.

(1) I II and III
(2) 1II and III only
(3) Iand III only
(4) TandIIonly

78.

79.

VES - 1T

&d i DG BoSBE
(1) 66D 90O

(2) S66D :rcg.)

(3) &6 @“«63@&50
(4) S66D D0y

@08 AV oG n DDV AV,
DSV DEAD DB Joch?

(1) n

2 0

3 1

(4) 5030 SofTaw

“Joys Jorew 9:0ID Qoo
FO0PID 28 YODSB) 08" ABVENE D

38 D0 €9AFO” @D HOWBdo

‘Qr:)')éo'.)"’d)?

(1) DODSYD

(2) Db

(3) wgS

4) &9

808 VAFEIVR HOIDotiAD BB

Q DAFED DBIE Bocodw ?

L D00 66D 0d0 g0
e.ao»ét.’g)bcb, @osmc;zgaﬁoo
ej’ézyoaeim).

I 06500 5 HOEGRUDBOD0 VIO
QYEDEET S0IVD0 ET°) aél&'

1. 38 Darsds HEoHeH DBT 0T
RODED).

(1) LI &080sn IIT

(2) I 080300 IIT &oeghdd

(3) 106030 III &Hrghadd

(4) 106030 II Hrghdd
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80. Find the weighted arithmetic mean of the first | 8¢,
n natural numbers, the weights being the
corresponding numbers.
2n + 2
(1
3
n+1
2
) 2
nn+1)
3
) 2
2n +1
(4)
3
81. For continuous frequency distribution, the 81.
median can be used only for
(1) Inclusive type classification
(2)  Exclusive type classification
(3) Mixed type classification
(4) Discrete type classification
82.
82, A person travelled 20 km at 5 kmph and then
24 km at 4 kmph. Find the average speed.
(1) 54 kmph
(2) 4-45 kmph
(3) 44 kmph
(4) 45 kmph
83.
83. The mean of 20 observations of marks is found

to be 40. Later on, it was discovered that one
of the marks, ‘63’ was misread as ‘83’. Find the

correct average of the marks.

(1) 408
(2) 338
(3) 385

(4) 358

Doe)odHh {ooaJ56 PPTROMT  €::0) NG,
ANGAE n DT oIV 27788 oS 0
S R0B0?

2n + 2
3

n+1l
2

(1)

(2)

nn+1)
2

2n +1
3

6))

4)

D‘Dbécl%%g@‘éﬁ
D060 Sdeo
&HOATHH 0L ?
(1) QAED Bo bééé&%
(2) QME GSo 8595(58’3
3) '&:)J&Qé G8o &59568'3
(4) DO¥ GSo bésdm

2P 030‘)56
Sod I3 Hrgen

28 O58 20 8. D Ao 5 8. A DAANS
00030 24 8. ) Ko 4 8. D DIBNS
QO3re0 B, VTP Difo SRR L0E0?

(1) ot 54 8.

(2) (o> 445 &.

(3) ot 44 8. o

(4) ot 45 8.

20 Jra)e VOIVDO  SGEEH00 40 ™
EOFITW. SOTS TES” 28 Jordd), 53
Q0 83 T SN BODTE ER0H TR
DIPEI),© DB DT ST 0.

(1) 408
(2) 338
(3) 385
(4) 358
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84. The relation between two variables x and y is 84.
3y — 2x + 5 = 0 and median of y is 40. Find the
median of x.
(1) 605
(2) 485
(3) 385
(4) 358
85. Who has introdu.ced the empirical relation 85.
among mean, median and mode ?
(1) E.S. Pearson
(2) K. Pearson
(3) Bowley
(4) Cox
86. The sum of absolute deviations about median
is 86.
(1) Degenerate
(2)  Greatest
(3) Zero
(4) Least
87.
87. For the given series 1, 2, 4, 8, 16, ..., 27, find

the Arithmetic mean.

2n+1_1
n+1l

(1)

2" —1
n

(2)

2n+1+1
n+1

3

@) 27 +1

X 0L y © ‘:"’C*st Voodio IO
3y — 2x + 5 = 0 20001 y GBOE) Hoegricto
40 900A. x aB0g); Soesgido S0 Q00 ?

(1) 605
(2) 485
(3) 385
(4) 358

908 mqgmm, é.)c,ézgdeéé.n Foblelonbh)
LIPETVYT) aﬁoc§5 29:002°0E “‘Ooeooz;s"f()l
OO0 BROTE

D) 2. DAVBYD
(2) s 2’;)0:50635

3) &9

4 =5y

L0GYAIBOV P PANS DDVTO Ao
(1) g0

(2) (so;gm
(3) XDX)Q'
(4) sﬁt.gém

«a&aé 39, 1, 2, 4, 8, 16, .., 24, SVVER
@osmc,szgmo E0H D).

2n+1_1
n+1

(1)

2" —1
n

(2)

2n+1+1
n+1

3

@) 27 +1
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88.

89.

90.

A distribution consists of 3 components with
frequency 45, 40 and 65 having their means 2,
2-5 and 2 respectively. Find the mode of

combined distribution.

(1 231
(2) 213
(3 313
(4) 248

Consider the following relations and identify
the correct relations.

I.  AH=G?

II. A=G=H
IIl. AG=H?’

(1) TandII only
(2) II and III only
(3) IandIII only

(4) I,II and III

The most suitable average to determine
average rate of growth in terms of percentages

from year to year is
(1) Mean

(2) Mode

(3) Harmonic mean

(4) Geometric mean

(27)

88.

89.

90.

w8 Deeendo, ?3%3&2_)&5&1) 45, 40 08030
65 00030 908 boc%:mw 2, 2:5 20O 2
P o)), 3 B ESRD é@)hoiné‘l&. Foulh)
G3E); VocknE D20 CIE) erTVFSo
ooed ?

(1 231

2 213

(3 313

(4) 248

808 DooTPOXD Do) TS DO
DBIE Bewdod ?

a

AH = G2

p—

II. A>G=>H

III. AG =H?

(D T 200030 IT &g
(2)  1I &00a3w IIT &g
(3) 1 06030 IIT Sghadd

(4) I, II Sododw 1T

Foloblgblnl)) 030032J PDOHO e 208 ;’Ooéébdo
200D B DoDBYoeIS Fochoees
T oterIS 98 &OOIVED TR0
6 ?

(1) e08 b.)cﬁéboo
(2) ersPuFSo
(3) t@mé&é éoc,szgaﬁoo

(4) mwa&s éoc,szgaﬁoo



OSA/666

91.

92.

93.

94.

Which of the following are not affected by

extreme values ?

(1) Median

(2) Harmonic mean
(3) Geometric mean

(4) Mean

The value which occurs with the maximum

frequency is called

(1) Mean
(2) Median
(3) Mode

(4) Geometric mean

Identify the correct relation between quartile

deviation and standard deviation.
(1) 2QD.=38S.D.

(2) S.D.=Q.D.

(3) 3QD.=28S.D.

(4) S.D.=2Q.D.

Identify the correct relation between mean

deviation and standard deviation.
(1) 5M.D.=48S.D.

(2) 4M.D.=5S.D.

(3) M.D.=28S.D.

(40 6M.D.=38S.D.

(28)

91.

92.

93.

94.

$06 TS DO OB dewde BB
Do Woded ?

(1) &ﬁoc,ééﬁeéo

(2) DTG S Qoo
3) mwé&s boc,&&boo
(4) o8 oGy

SEOTP RPN’
XDBODY DeNDD DA00EPE?

DT b0

(1) e908 m%mm
(2) baézgdéo
(8) erruFso

(4) (bea"éés mc§5mo

Cﬁ&)g"o% AVVD0 VOO O Dddo
b.)QS DB Doerogio GotidHN?

1) 28.9.=38.
2 §9.=3.9.

3) 33.D.=28..
@ £9.=23.9.

QOG0 DRVN0 BO3 0 Addo sy
DB Dot BoTHN?

1) 520.D.=4 8.
@) 430.D.=58&.D.
3) 20.9.=28.9.

@) 620.D.=38.D.
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95.

96.

97.

98.

If the following parameter is zero, then the
standard deviation and root mean square

deviation would be the same :

(1) Harmonic mean

(2) Mean
(3) Median
(4) Mode

Compute the relative range of the data
20, 80, 60, 30, 50, 20.

(1)

(2)

3

Wl Uik w|lot ol w

(4)

Mean deviation from k is minimum if k is
(1) Mean

(2) Median

(3) Mode

(4) Standard deviation

Quartile deviation is also known as
1 Q1-Qy

(2) Interquartile range

(3) Quartile range

(4) Semi-interquartile range

(29)

95.

96.

97.

98.

So0d& Br50 2900, a0 DPIVDo OOIW
boc,séaﬁa bg DIVD  BArVo  DATHoTP
&0LIP0

(1) @mé&s mc.slgmap
(2) 08 maémo
(3) &ﬁacjéﬁeéo

(4) erPPVFSo

&dgrodo 20, 80, 60, 30, 50, 20 & 03.3.352j
FDE TG TE) 0e0HW.

(1)
(2)
3)

4)

Wl ok w|ot oW

k Qoo SIS DIVO0 I sazgnn
sore0es, k ?

(1) e0o8 éoc,ésé.)o
(2) bocj5deéo
(8) ersruYFsSo

(4) 8 ddwdo

é&)go% Daoa"b‘l & JPor  &ree
TPt

1 Q-Qy

(2) 080 BSToTR T°ga

(3)  SSoToTR g

(@) DG -e0BCBBOTroT TG
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99. Consider the following statements. 99
Which of the statements is/are correct ? )
I Standard deviation is independent of

100.

101.

change of origin and scale.

II. Variance is independent of change of
origin but not of scale.

III. Moments are affected by change of

origin and scale.
(1
2)
3)
4)

I, IT and III
I and IT only
I and III only

IT only

The limits for quartile coefficient of skewness

are
o)
(2)
3
4)

[-3, 3]
(-1,1]
[-1, 1]

-1, 1)

Consider the following statements and find
out which are correct.

I Bg> 1.
II. By—-p;—-1=0.

ITII. Pearson’s coefficient of skewness lies

between — 1 and 1.
(D
(2)
(3
(4)

I and II only
II and III only
I and III only

I, II and III

100.

101.

806 PAJBIVI DBIDo), LOTD T
(BotSol ?

L &% ddodo 006 dareods’
JrEdy SO0k s’ Jrdy P
ITPCDCED.

L DD ©0D0 Hrwoss® Jdrddy e
BTPEOEE 0D fobwes‘ SOLON e
TP 3DEIAV0A.

S0 SO0 fozjwés BRSO
VSO PIPISB0 WA,

I, IT Sodosoo I11

I 080300 IT Hoega
I 08030 IIT &g
IT Soeghado

III.

(D
(2)
3
4)

OPDDD BE), wdOToF (Draso Al
€935¢300

(1D
(2)
3)
(4)

[- 3, 3]
(-1,1]
[-1,1]
-1,1)

808 DAJSIVR HBID0D), VOIS T
(Botsol ?

I Bg> 1.

I By—Py—1=0.

I11. ‘230:1365.5 ea%vga %o —1 S0daiw 1

20655 SDOCIRD.

I &08030 IT Soega
IT L0803 11T Hoegdo
I 208030 IIT &g
I, 1T 0803w 11

(D
(2)
3
(4)
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102.

103.

104.

105.

The of
20 observations measured from 30 is 2.

algebraic sum of deviations

Therefore, mean of these observations is
(1)
(2)
(3)
(4)

30
20
10
25

For a moderately skewed data, the A.M. is
200, the C.V. is 8 and coefficient of skewness
is 0-3. Find the mode.

(D
(2)
3
4)

189-5
192-5
1955
182-8

In a frequency distribution, the coefficient of
skewness based on quartile is 0-6. If the sum
of the upper and the lower quartiles is 100 and
median is 38, compute the value of upper
quartile.

(1)
(2)
(3)
(4)

50
60
140
70

The statement, “Platykurtic curves, like the
Platypus,
Leptokurtic curves are high with long tails

are squat with short tails

like the kangaroos noted for leaping,” was
given by

(1)
(2)
3
4)

Gosset
C.R. Rao
Galton

Snedecor

(31)

102.

103.

104.

.| 105.

20 DOFVIVD  DIdoTO, 30 Do
T8 oDBDNE DD D2y Do 2 OB,
&8 0IVIV WoE L0 Jocs ?

(1) 30

(2 20

3) 10

4) 25

w8 DY ea%"gaf) cSgrodo CBE) oS
83.)6,55&)&1) = 200 DdVD gHL = 8
200050 YD bmso = 03 wawd
eIETPVVE0 SN VD ?

(1) 1895

(2) 1925

(3) 1955

(4) 1828

w8 %“ég:g_)éso Derasd 0o SBoTroTR
BEPEIVT S5 0D APD (beago 0-6,
VD O3 D ééog"o%‘@ 200 100
Q00030 aﬁocﬁsﬁéo 38, DB D zbéogo%'o
oeh Géboiéo«b.)o ?

(1) 50

(2) 60

3) 140

4) 170

“TE° €08 dgo FAVD e DY BD TY
ava%mow, OF €95 dgo 08D Lorrdd
TP DEBD TED 3"6;‘5&5"&»” 9D
DIVD0 FUNITD ?

(1)
(2)
(3)
4)

(911N
.86, T°O
™S

[h)
?o;c:éé
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106.

107.

108.

109.

Which measure of dispersion is based only on
the central 50% of the observations ?

(D
(2)
3
4)

Range
Quartile deviation
Standard deviation

Mean deviation

If standard deviation is 36, then quartile

deviation is
(D
(2)
3
4)

20
24
25
16

The mean of 5 observations is 4:4 and the
824, If three of the five

observations are 1, 2 and 6, find the other two.
(D
(2)
(3)
(4)

variance 1is

9 and 4
9 and 8
6 and 12
8 and 4

The rank of 3" quartile is

3(IN+1)

1
(D 1

2) N+1

3

4)

SERCIN

(32)

106.

107.

108.

109.

D Yo Sos,  Bogernans'd 50%
DOIVIVP BPGR ICPEDEID

(1
(2)
(3)
4)

g

DIS0T°0 POTRTSRNTSY
Y Deserdo
BOEFVDBRID00

$50 D300 36 DB SEToP DSwPo Jodh
1 20 |

2 24

3) 25

4) 16

5 20DV J0E(R00 4-4 SO DRYS 8:24
e2 5 HOFVDLES’ 3 HOJFLDeW 1, 2 SO 6
28, AOD Bodtye SR QHW.

9 0dadw 4
9 Sododw 8
6 0603w 12
8 odadw 4

(1)
(2)
3
(4)

35 50T 0% £ Jdoed

3(N+1)
4

N+1

(D

@ =

3N
®
N
4

4)
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110. What is the standard error of rank correlation

111.

112,

113.

coefficient ?

1_2

°

(D

=

(2) -

3

@  |2a-p?)
n

If the
two variables is
determination is

(1 09
(2) -081
(3) 081
(4 019

correlation coefficient between
— 09, the -coefficient of

If coefficient of correlation between two
variables is — 0-6, then coefficient of alienation
is

0-36
-08
0-8
-0-36

(D
(2)
3
4)

Standard error of correlation coefficient is

(1)

(2)

3

(4)

(33)

110.

111.

112.

113.

m,
{59
?}
tﬂ(
?J(

02068 (gago CBE), 0 Eo

(2)

3)

@  |2a-p?)
n

C0oC) VTRV RT® Do (esSo — 09
DB, .‘081’699 (€380 Doeh ?

(1)
(2)
(3)
(4)

G0 WLTBLL b.)c.szg VS Voo sSo
—0-6 DB HTAD (%o Doeh

(D)
(2)
(3)
(4)

0-36
-0-8
0-8
—-0-36

RZ 2082065 (12£aEOBVE), E30 80 doh ?

(1)

(2)

3

4)
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114. Which test would you have to use for testing 114.
the significance of an observed sample

correlation ?
(1) F-test
(2) t-test
(3) Chi-square (Xz) test
(4) Z-test
115. What is used to measure the reliability of an
observed correlation coefficient ? 115.
(1) Standard error
(2) Sampling error
(3)  Probable error
(4) Non-probable error
116. If two variables x and y are connected by the
relation 3x + 2y + 6 = 0, then correlation |116.
coefficient r =
1 1
2 -1
3 0
(4) Does not exist
117. Correlation coefficient is also denoted by 117.
(D ny3
2 ppp
@) ngy
4 pp

2039oDD PAGEIO DY), VT0LIOE
(DEERY FYEdW DO D DEL

[SeToutloletalnlob
(1) F-28&
(2)  t-0b&
(3)  y2-0b&

X -
4) Z-H88

2000DD DI Hotod  (eo aBE),
:)%S:obcmém SIS 3D
EDABTAFED

(1) Froreds 8o
2)
(3)

4)

DACTDH (§57es B0
Rogrady 80
R0gPH[000 50 80

B0 WTPHVAD X B8O y, 3x + 2y + 6 =0

020830  E9A  &of3, DI@ LDorodd
(DESAD 1=

1 1

2 -1

3 0

4) bgb?godﬁd)

[STou x)oeoocjmess"f\’)iéabcéow e
O

D ny3

2 ppp

(3)  ngy

(4)  nqq
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118. Two independent variables are 118.
(1) Correlated
(2)  Uncorrelated

119.

120.

Positive correlated

3)
4)

Negative correlated

In the following relations, in which relation

are two variables uncorrelated but not

independent ?

o)

y =tan x

(2) y=x

3

y = cos X

If x and y are random variables and a, b, c, d
are any numbers provided only that a # 0,

¢c#0, then r(ax+b,cy +d) =

D 2% r@xcy)

| ac|

a

@)
el

r(x,y)

ﬁr(x, ¥)
| ac|

3

2 . (ax, cy)s

el

4)

119.

120.

Soch DBog eTrven $od DR
&0EIP0

(1) {3 Dooto EOA &otran

(2) P Dorodo £OAH &octed)

(3)  BTEYE DB Doeotio £9A &otran

(4)  EFEYE DD Doevodso g0A &otro

808 02050, D D00’ Bod
POTPHED Ve oo GAD 0

W Bogren ?

(1) y=tanx
(2) y=x

(3) y=cosx
4 y=x°

X a0 y WTPBHID O3 a, b, ¢, d e
DD 908w, S a # 0, ¢ # 0 T &otS,
r(ax+b,cy +d) =

ac

(D r (ax, cy)
| ac|

a

@
el

r(x,y)

ac

3

r(x,y)
| ac|

(4) a r (ax,cy)s

e
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121.

122,

123.

124.

The following formula is not practicable in the

case of bivariate frequency distribution :

Pearson correlation coefficient

(1)
(2)

Spearman’s rank correlation

3)

Bayes’ formula

All of the above are correct

4)

[39%)

r measures which type of relationship

between two variables ?

Linear

(D

Non-linear

(2)

(3) Both (1) and (2) options

Collinear

4)

If r is the correlation coefficient, then

v1- r2 is termed as

o)

Coefficient of determination

Coefficient of alienation

(2)
Coefficient of non-determination

3

Coefficient of non-alienation

4)

Which index number would be expressed as

upward bias ?

(1) Marshall-Edgeworth index number

(2) Paasche’s index number
(3)

Laspeyres’ index number

(4)

Kelly’s index number

(36)

121.

122,

123.

124.

BF SOT IV DEDNY e DA’ &

‘&J"g‘@‘l Qsz:édea“ééé&nn" 03NS
6)) iDOZi)CSDS 5 Yoo oego
(2) 2306 21 E'B 23 Devocso
(3) B Ldrgo

@) PO DJID

Bochd LT*HR G Q DB Ro0o T’
§'e00od?

Db
EHASIH

(1)
(2)
(3) (1) 0003w (2) srene Bodoe

(4) 3 E6D

r IO DB

1-12 0036

R0 toeso

(1) :Z)g‘de'a ogago

(2)  DTHD eago

(3) :)g"bocéi) oego

4)  HoPHS o 5200

N Lrd NIENEN &egsanag DS Eehre
HQFC ?

(1) SrES-JESE LX) Roag
o 2 -

2) D D) oy

(3) @bboéoéb D0 SIES

(4) 39 R Doag
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125.

126.

127.

128.

The value index number would be expressed
in terms of

Zplql
Py,

(1D x 100

Ypyd
> p,q,

(2) 100

2 P14

(3) x100

2Po9

4) x100

Circular Test is an extension of
(1)
(2)
(3)
(4)

Factor Reversal Test
Unit Test
Median Test

Time Reversal Test

For a particular class of family, the cost of
living index is 120. Then, what is the
purchasing power of a rupee ?

(1) 0-0083
(2) 0-8333
(3) 00081
(4) 0-8380

Consider the following statements and find
out the correct ones.

I. Generalization of Time Reversal Test is
the Circular Test.

II.  Circular Test is satisfied by Kelly’s fixed
weight method.

ITII. Fisher’s ideal index does not satisfy the

Circular Test.
(1) II and IIT only
(2)
(3)

(4)

I and IT only
I, IT and IIT
IT only

(37)

125.

126.

127.

128.

Ddend e Dedore

Db@o:ﬁém‘)

Zp1q1
Zpoqo

‘{\)o:_oséo &

(D x 100

Ypyd
> p,q,

(2) 100

2P14

(3) x100

Xpodp
>p,q,;

(4) 100
S8 DBE §od T L), DOSGe
(1) SeOsP0 HDOHEN HOL

(2) o HOE.

(3)  Docs§e 068

4) SR DOHGD HOL.

WBPIE BN S RoOD twoere  BHD

5508 ) Romy 120 wond crJrow

g, Faoffen 3§ Jods ?

(1) 0-0083

(2) 08333

(3)  0-0081

(4)  0-8380

808 DIDVTVR DBIDoD) VO DD TBI

(BotSol ?

I SPO00580 oA B0,
FOLBEBEt0 SO DEL WPBB.

L Sdo D60 89 ding) Poerod

DG BPDESORD.

D6 eEoRrd Sgab 0O B

DB

IT 08030 TIT Hoeggadd

T 200030 IT e

I, IT 00050 I

IT gm0

III.

(1)
(2)
3
4)
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129.

130.

131.

132.

133.

Marshall-Edgeworth index number satisfies
(1)
(2)
(3)
(4)

Time Reversal Test
Factor Reversal Test
Circular Test

Fisher’s Test

Index number reversal is the state of
(1)
(2)
(3)
(4)

Deflation
Inflation
Both (1) and (2)

Profits and Losses

The test of shifting the base is called
(1)
(2)
(3)
(4)

Unit Test
Time Reversal Test
Factor Reversal Test

Circular Test

How can you estimate the parameters in the
linear trend model ?

(D
(2)
3
(4)

Least Squares method
Newton-Raphson method
Differential method

Gauss Elimination method

The variations that are purely random and
erratic are

(1)
(2)
3)
(4)

Trend
Seasonal variations
Cyclical variations

Irregular variations

(38)

129.

130.

131.

132.

133.

QPGS-IEDE LD Doy BI) B
o () -2 e

DK ?

(1) S0 HD0HGD HBL.

(2) BESPO HODED DOL

(3) SSoD HOY

@) pby 088

A WrDR0LL DOJGIM By
(1)
2)
(3)
4)

O goyeaw
SIS

(1) 0808 (2) 8¢
@e;s—c‘og*’w

eI5°5 wbbéé D88

(1) a3 DO

(2) 5 DODGD DOK

(3) SO DODGND HOL
4) B DO

VEOS DD DTS DT RSOV
90T DOEFPS &DAITHOW DY

(1) SQQ btg"e) aga

(2) eﬁrzgeofo—c"ézabé :age:a
(3) e9d8D i.’.)cge?

4) A Suhot B’Jg)@

QPO oIrEDyEo HBAHL SHSIPS0 DD
dsTeen D ?

D) 09

(2)
3)
(4)

O a"oau"éw
SSaH Trodergen
g0Garh Trotder e
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134. The general decline in sales of cotton clothes is

135.

136.

137.

an example of
(1) Seasonal variations
(2) Cyclical variations
(3)

Irregular variations

General variations

4)

Simple average method is used to calculate
(1) Trend values
(2) Cyclical variations

Seasonal variations

3

Random variations

4)

A linear trend may be estimated by the model
(1) y=a+bt?
(2) y=a+bt

(3) y=ab

Ratio-to-trend method is used to estimate

(D

Cyclical variations
(2) Linear trend
Random variations

3

Seasonal variations

4)

(39)

134.

135.

136.

137.

SO0 RV i Fes Frdn S
S08 TrAS &S

(1) oo ::5°o:ﬁo°5w

2 SSaDd ToSeT§en

(3) GG Trotderien

(4) oS TPOTIRD

DG DTHDO DA A Gézjod)éa"bé

EDABTAFED
(1) QO Deden
(2)  SGoH TPodergR

3) oo c:°o:f>o°5w

(4) g0 Bred Trocserien

DB P DA & EdosS
€000 90IT° 350&)&5&)‘)

(1) y=a+bt?
©))
(3)

(4)

y=a+bt
y=abt

y=a.e

D@ Aol 9B 1gO 306 DD

90T DOETPIS EDATAFED ?
1) SSo% TPoderge
(2) V86D PHD
(3)  QIrcydNS Troderen

4) o a‘oéoisw
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138.

139.

140.

141.

The quickest method to collect primary data is

Personal interview

D
(2) Indirect interview
3)

Telephone interview

(4)

Questionnaire method

Pictograms are always

One-dimensional

(D

No-dimensional

(2)

Three-dimensional

3

(4) Two-dimensional
Frequency density is defined as

Class frequency
Class length

o)

Class length
Class frequency

(2)

Class frequency

(3)
Total frequency

Class length

4)
Total frequency

Out of the following, which concept of Galton
is well-known in statistical literature ?

(D
(2)
(3
4)

Frequency Polygon curve
Area diagram
Pie-chart

Ogive

(40)

138.

139.

140.

141.

VO PR do  (FEWS)  grod
?05568353 S0 Dgedo

1 o8& 'p°e°dj°§5

(2) HBE raoeowsé
(3) &IYS faoeodrss
4) DI OIS

DETDD Q0 IPRDYET RW® 0PN
(1) JE-H0ISTea0

(2)  DBITLI0 T
(3)  Syda-HBAER0
(4)  BBOD-HOIE0
FRIRD] oGS VDO

éddé%"ég@éso
SEEATED)

SBSEAV )

(2)
éddé%"ég@éso

éddé%"ég@éso
:u»e;soavég:@a5o

(3)

SEAIT D)

(4)
&339_‘.‘303"263@8650
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g, 2PHIVS DL e BDNDIO DA?

1) 2)%%93.65 WA SFo
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(3) D-VGo
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142. Who said, “A knowledge of statistics is like a | 4 42.
knowledge of foreign languages or of algebra;
it may prove of use at any item under any

circumstance” ?
(1) Bowley
(2) Boddington
(3) King
(4) Galton
143. Diagrammatic representation of  the
cumulative frequency distribution is
143.
(1) Frequency polygon
(2) Histogram
(3) Ogive
(4)  Circular diagrams
144. An Ogive can be prepared in
different ways. 144.
(1) 4
(2 2
3 1
4 3
145.
145. Relative frequency is defined as
1) Class frequency
Total frequency
@) Total frequency
Class frequency
3) Class length
Class frequency
@ Class frequency
Class length

“Jogs TR0 6 0OFPH0 VDG DB
R DO So Dariedcd DBEPH1; 9
B WS A, d SISRD  @ad
SOAPAIDB0ED  DEFDOSIBN” @D
aiabé TE?

1) &9

(2)  &°Goherd

3) 8oh

4) wgS

20 DoRDTYY)  Deres” TowodoY
3006 DHBH?

(1) &ag:@asaéod:aaa

2) Qdrren

(3)  &ho

(4) OyZS°C HETW

80D 20 A T Sakrtd Sabrivo
1 4
2 2
3 1
4) 3

F0g 3"&)3‘@&)50 D Tl

édﬁé@”és@ééo

(D
:u»e;soavég:@a5o

&De}o@‘c‘bg@éso

(2)
édﬁé@”és@ééo

SSEAT )
édﬁé@”és@éso

(3)

SIS IR0

4
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146.

147.

148.

149.

150.

Mode of a distribution can be obtained from
(D
(2)
3)
4)

Quantiles
Histogram
Deciles

Quartiles

Frequency of a variable is always
(1)
(2)
(3)
(4)

A function
An integer
In percentage

Mid-value

With the help of an Ogive curve, one can
determine

(1)
(2)
(3)
(4)

Percentiles
Mean
Quantiles

All of the above are correct

The three points which divide the series into
four equal parts are called

(1)
(2)
3
(4)

Deciles
Percentiles
Quartiles

Quantiles

Most of the commonly used frequency curves
are

(1)
(2)
3)
(4)

J-shaped
Mixed
U-shaped
Bell-shaped

(42)

146.

147.

148.

149.

150.

Dered A0 ePOVEo S0& TG
g"odéﬁrﬁ){yﬁ)

(1)
(2)
3)
4)
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AP eeen
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3) B0’

(4)  D0Gg Ded

A0 Do

3’0’"50\'153::1)‘)
Q

(1) BTPoBEH00

(2) oo

(8) DBATETOTRD

4) P D) D6 DD

EOATHoD, $od A

28 3BD TP DAPS TPL  FELRDTT
D230t 0I°E DoV DVoETdd ?

(@)
(2)
(3)
(4)

QBP0 T°D
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(1)
(2)
3)
(4)
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SPACE FOR ROUGH WORK
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SPACE FOR ROUGH WORK



